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3.1-10 L/100 3.1-11 3.1-3
1
2007 12 2 6
/100 3.1-12
L/100 3.1-13 2 6 2007
10 2008 9 1
1 446kg/100 180 1,145 /100 2,354L/100 1,057
5,854L/100 ( 4 5) 2
2 35 /100 5 312 /100
205L/100 15 1,524L/100 1 8 9
2
2008 5 5 2008 7
6 2008 9 100
5
3.1-3
kg/100
/ 1 2 3 4 5
1 2007 10 273.1 180.2 309.8 424.1 | 1,145.0 | 2,332.2 466.4
2 2007 12 5.3 11.9 11.9 20.0 17.4 66.4 13.3
3 2008 2 4.6 1.9 9.9 24.8 15.3 56.4 11.3
4 2008 4 7.1 5.2 8.9 19.9 45.7 86.8 17.4
5 2008 7 8.4 7.5 8.8 24.9 79.2 128.9 25.8
6 2008 9 33.6 28.4 29.4 127.8 312.3 531.5 106.3
£/100
/ 1 2 3 4 5
1 2007 10 1,100.9 | 1,056.8 | 1,834.1 | 1,923.3 | 5,853.7 11,768.7 | 2,353.7
2 2007 12 45.6 81.6 81.6 84.8 86.0 379.6 75.9
3 2008 2 54.9 15.2 48.3 132.7 87.6 338.7 67.7
4 2008 4 43.0 46.7 79.9 134.6 250.7 554.9 111.0
5 2008 7 67.1 66.6 54.4 130.4 606.8 925.4 185.1
6 2008 9 233.6 182.9 225.5 753.5 | 1,524.3 2,919.9 584.0
100
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